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You are an Investigatin officer;  the
primary accused in a VIP assassination
case 1s offering huge bribes for
manipulating evidence and influencing
judges to ensure acquittal. You should :
(A) avoid mnvestigating as per your
independent professional judgenient.
(B) remain uncorru ted and present
facts transparent g in court. _
_ ut submit weakly
abricated bogus evidence.
(D) comply on records but secretly
‘ collect dialogue against accused.
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You are stationed as a police officer;
prevent further cases of card cloning at

ATMs, you should :

(A) purchase . card = cloning . machine

s to understand methodology.
(B) g)r(%tgltgee ATM machine access logs

lies. ) »
©) gl);caengx?;aobserver each in all ATMs

to identify suspicious-accomplices.

" (D) temporarily_disable all ATMs in.

the jurisdiction.
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You are a constable in a special cell that
deals with cyber crimes and online frauds.
You have been trained in various aspects
of cyber security and digital forensics.
Howevgr, due to'a shortage of staff, you
are assigned to a patro] duty where you

have to patrol the streets ang respond t0
emergency calls. You feel that this is 2

* boring and mundane task that does not

suit your expertise. Yoy should :.

~(A) do the patrol duty enthusiastically

and learn from the experiences of
other patrol officers, ‘

(B) do the Patrol duty reluctantly and
complain about jt to your superiors
and colleagues. ;

(C) do the patrol duty but constantly
look for OPPortunity of taking leave.

(D)  refuse to do:the patro] duty and
insist on staying in the cyber cell.
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In the climax stage of a nationwide terror
manhunt, you learn your only parent
suffers a debilitating stroke. You should :
“(A) commit singular focus expecting
siblings to handle parent.
(B) remotely coordinate certain areas
without Ops leadership.
(C) conceal news avoiding distraction
till mission completion.
(D) handover reins to accomplished
deputy for family priority.
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i igating forensic
‘When investigating  rape .
evidence from victim, you should :
(A) transfer to experienced Woman
Inspector without direct

involvement.

ersonally interview the victim in
& glain clothes to build trust.

(C). focus on Medical test ruthlessly

i i t.
without any women police presen
(D) complete documentation along
" with FIR using pseudo-name.
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As a police officer, transgender %ﬁlzirtl;

report facing harassment and dign A

violations during law. enforcemen

interactions. You should :- oo

(A) take complaint and foryvard it to.
Human Rights Commission.

(B) implement mass sensitization
drives on appropriate conduct.

(C) enforce strict disciplinary actions
against offenders.

(D) depute gender-rights community
volunteers for engagements.
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§ a police officer, yo an :
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l(lzl)ghbourhood entry. Yo lenied

u sh :
enforce diversity bould.

minority communj
(B) refer complaintsl:lty 5
welfare schemes,
(©) organize multi_faith co
1alogues to ease tensions.
D) arrest and  prosecute
‘societies flouting laws,

fficers.
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As a police officer, you are assigned to a
police station in a district. Which of the
following is the name of the officer who
is in-charge of the police station ?

(A) Deputy Inspector General

(B) Circle Officer :

(C) Superintendent of Police

(D) Station House Officer
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As a police officer, what would guide
-your decision-making in enforcing laws ?
(A) Applying personal moral values

even if they conflict with
established regulations.

(B) Balancing legal requirements with

empathy and consideration for the
situation.

(C) Following the orders of your

superiors without questioning their
judgment.

(D) Strict adherence to the letter of the

la_.w, regardless of individual
circumstances.
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Find suitable alternative in place of
question mark (?).

Mother : Child : : Cloud : ?

(A) Weather (B) Loud

(C) Rain (D) Shine
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As a police officer, éertain -religious

customs  violate . Supreme Court
directions on entry of women in places
of worship. You should :

(A) sensitize opinion leaders leveraging
spiritual heads’ assistance.

(B) publicly threaten charges against
customs upholding court rulings.

(C) avoid the situation by taking
leaves.

(D) enforce directions by removing
opposing groups if necessary.
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Choose the correct alternative from given
ones that will complete the series :
2.3,15.9,79.6, 423, 2574, (7))

(A) « 18067 (B) 8432

(©) 10300 (D) 5632
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In a certain code language “MADRAS”
is written as “OWNHEQ”. How will
“SUNDAY” be written in that same code ?
(A) UWZYWR (B). UWZRYW
(C) WUZWYR (D) WUZRYX
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Shyam travels 7 km North, then he turns
to his right and walks 3 km. He again
turns to his right and moves 7 km
forward. Now in which direction is he
from his starting point ?

(A) West - -(B) East

(C). South - (D) North
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In the following question, some words
are given. They have some common

features except the odd one. You are
required to find odd one out.

(A) Ravage  (B) Distress
(C), Harass . (D) - Annoy
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If in the word “SPIRITU{XL.”, position ;
second and fifth letter 18 mterchangeth,_
similarly position of fourth and sxxd
letter is interchanged with seventh an
ninth letters respectively, then how many
pair of letters in the new word have as
many = letters between them (glther
forward or backward) as.they have in the
English alphabet series ?

(A) 6 (B) 4
€ 5 ™ 3
maﬁawa(noon)%mga‘eﬁaﬁﬁ

® 1 4 9 10 fire W, = Y ¥ o weht

A clock is started at noon. By 10 minutes
past 4, the hour hand has turned through
(A) 1350 - (B). 125°

(G 130° D) 120°
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Suresh’s sister is the wife of Ram. Ram

is Rani’s brother. Ram’s father is .
Madhur. Sheetal is Ram’s grandmother.

Rema is Sheetal’s daughter-in-law. Rohit
is Rani’s brother’s son. How is Rohit

related to Suresh ?

(A) Nephew |, (B) Son

(C)  Brother (D) Brother-in-law
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Which of the following diagrams 'Zﬁ;‘ o R A AT | TR (8
indicates the rlaon, Dot | o oty i e R R 13
ujarat, Surat ? O S o wdy b
('A)'_ (B) O O “There is a cuboid whose dimensions ar I
, 4 x 3 x 3 cm. The opposite faces of
| dimensions 4 x 3 are coloured yellow. |
(®) D) The opposite faces of other dimensions
. O ~ Y 4 x 3 are coloured red. The opposite
+ 294 -%° v faces of dimensions 3 x 3 are coloured
20. TARL:120+:3+8x3-40=7 ~ green. Now the cuboid is cut into smal
| 190 + —40=2 cubes of side 1 cm. How many -smal
zz;ve 7 ‘: bl x(;) 482 4' cubes have three faces coloured ? ‘
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Study the following figure and answer . ’TQW ¥ e @ a’ ¥ e
the question given below. -
RO ) HHAT 2 | 98 T3 g6 |
- SRR
& L] Trained nurses In the following question, a word has ;
, AN O_> forafea e / been given, followed by four ofhe! |
Married population words, one of which can be formed usif ¢
6/ , /\~> s i the letters of the given word. Find th
‘ Nurses in hospital word. , o
GEAT 7 Y T ST ST 8 7 MEASUREMENT e
(A) e s & (A) MANTLE (B) SUMMIT
@B) sfafashimTd . (@) RETUNES (D) ASSURE
(C) SRR Pl 20, iR PR 178 st 3198 1
(D) i =& M W 3, 9 39 6 § sefigard H 3 1
What is represented by the number 7 ? gen frafig 7
(A) Married trained nurses In a row Mihir is 17% from the left a0
(B) Unmarried trained nurses ' 19® from the right, then what is the totd %
(C) Married nurses in the hospital - number of candidates in that row ?
(D) Trained nurses |- @) -36 - (B) 3l
s (C) 35 (D) 29
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A scientist is trying to recall the access

code to a secure . laboratory. He

remembers the following details :
The code starts with the digit 5.
The code ends with 987.

(3) The second digit is the sum of the

first digit and 3.
(4) The third digit is half of the second
digit. -
Now, considering these conditions, the

scientist has narrowed down four

potential access codes for the laboratory.

Find the suitable one. |
A) 548987 (B) 584987
(C) 563987 - (D) 542987
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In the question below two statements

followed by three conclusions numbered

I, II and IIl are given. You have to

assume everything in the statements to -

be true, then consider the_ three

conclusions together and decide which of

them logically follows beyond a

reasonable doubt from the information

given in the statements.

Statements :

I.  Water has no shape, has volume.

II. The knowledge is like water,
flowed from one side to other.

Conclusions : - '

I.  The knowledge is interdisciplinary.

II. The knowledge is bound within a

specific area. ‘

The knowledge influences the core

of mental activity directly.

Both I and III follow.

Only conclusion II follows.

Both I and II follow.

Only conclusion I follows.

(A)
(B)

II1.

(A)
(B)
©
(D)
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M_Nwém_ years 3g0 7 ed Kulhs over four (D) Noonmati s Odisha s2. Frfefea & @ 2 56,  rehaR 1 W Fftee § & TR
erala ' » Assam T IR TS R R RS2 IC]
(B) Karnatak 49, mmw 7 H TH ? .
©) Imamnrmww Wmm e .mddu W (A) o9 (A) T B
I G B e S AR sy (C) ®) ww © ¥ ®) TL
46 wad . (A) @, i R RAE ¢ " J&: Which of the fol (D) 3w Akbar's m (D) e
SITOTRT intel of U ollowing i ausoleum is 1 .
Eucek 2 ttar Prad g is the stat of t . ocated
e et esh ? e tre he foll at wh
we? T2 ®HH B) e ?,m.ﬂﬂ.ﬁmw A.Wu ‘Bamboo ®) ¢ (A) mﬁm%é_sm places ? ich
?
o e o — e s SRS
© M@ﬂﬁ%ﬁ% TTTIHT AT, WA wg TETEH, et . %zﬁ%w%wﬁﬁ e 57. Fefafea § & sat wew _M“Qem :
’ h m:mw.ﬁ: 57
(D) SATOET SR o ¢ @nmﬂ@cmﬂnqm of W g, IR F Wﬂ_.@.mwdm u.w_.ﬂ geft ot ama SicD I UM 3 785 6 w1 i
What is the hi ommm:ansos (WHO) is | orld Health fREd? 3 frg R A frmsman? ? Aft F N
Organisation in ighest post for C the following place peatEdat which (A) Ha R (&)
(A) Sr.Tech India ? ensus (A) Paris, Fr places ? © e T (B) I © ®) R
(B) Wn.mwmm nical Director (B) Onso. m:ow. Surha Taal i (D) e Whi gen d D) m_ﬁ
Co ar  General & C va, Switzerland al aal is the famous ich among the f ;
() Deputy Registtar Go S R = Qv oy bl Tan ol migrstoy bisds fom U e pe el vy
i 1a : I .
D) Onsmcw Omm““m%mn General ) Amsterdam, Netherlands located wu"“a %mﬁ” oo».Enn meowmw oﬁ A.Mw_:m_% addy and Emmwn. M”__gﬂmmwm rformed
47, “ . Y ) distri of th s ajri ion ?
%ﬂﬂﬂﬁﬂﬁ frfefes § 9 50. feht T A wEG oF Anvn_nmmm””, M:m.n Pradesh ? e following (C) Hurka Baul va Rasiya
| tfewen pfar e 7 formr s gteeh e A i w a (B) Etah G 58. wE fig .H.&W_Qﬂmﬁ ) Sherala
By W S 27 (D) Ballia ﬁm&a@%ﬂ%wwﬂ?ﬁmmw fea
(©) wETHf e wiiew (B) R 54, PreffE & I s
D) Few ©) shPrfEwT forer il i3 e @A) o
“Kumarasamb! The increase i CUU Mﬂ.@ﬂ.ﬂa— ?ﬂdﬂ.@%wﬂmﬂﬂ Uﬂ.ﬁ i ﬁgw.m._. Gwv Aln@ﬂdﬂﬁ W«w.m
work of whi ::mé:... is the Ii of a co in the proportion populati IR R 7 T (C) Trem sferreht
(A) ich of the followi e literary untry who li 4 population (A) Riaem M1
(B) WA_WMEQ@& owing writers ? _MMoéz as which of ﬁMM m ~M__.iu.ms areas is (C) I=um (B) wue MUV TR SEeHNTS T
©C) M mmS # ) Rusticatio ollowing 7 Whi (D) wEgH anaras Hindu Univers
2 AUV WM:.—“W-—Wa: Kalidasa AWV Cﬂﬁﬁwsﬂ_nw_u ﬁ—g—m”n“.—ﬂﬁ”*.—mﬁ:% wo:c/_csm social medi Pandit Madan —WM\QMM—DQ was founded b
- FK-3 <0 (C) Colonisation evelopment networking E,Mwwo_w:mﬂmm.mo_. ?owﬁ&mﬂ% M%vaamoz omérouw amo 7%_5@», esﬁw
_ erers msreanere s eromeren D)., DT DANISAL (A) Linkedin ing ? Dr. Anni ng the followi
10 < &mn_mnmwwﬁ (C) Instagram MWV Snapchat (B) wmzsanwﬂmwﬁmmmsﬂ ing ?
% B Ll . AT AT v muNOGdOOW AOV Madam Bhi ..ﬁ.wmon.ﬂ
s A T oo (D) Sardar <m=:S_.= amg
= . ‘a,m.acg:& Patel
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60. PRV fim Tame o wymw %

59. qCHTHTH (UPSSF) 1 U 919 ward |
(A) SR ¥ w9 & HIE
(B) It wew wifers Rraaifedt wret
(C) I 9w g R wid
(D) IW ¥ew AV Rt wid
Give full form of UPSSF.
(A) Uttar Pradesh Social Source Force
(B) Uttar Pradesh Solid Security Force
(C)  Uttar Pradesh Social Security Force
(D) Uttar Pradesh Special Security Force

wﬂ@@mm@@mdﬂ%ﬁﬁmwm
(A) 3789 (B) oMY
(C) ToUa (D) S ¥ew

Nivesh Mitra Mobile application is an
initiative of which of the following states
of India ?

(A) Assam

(B) Telangana
(©) Gujarat

(D) Uttar Pradesh

61, mﬂﬁsﬂwﬂ@@mm@wﬂuﬂ@xJ
AT AR 7
(A) TrEd (B) ¥ gz 7
() Fverg (D) g

PP g,

K-3

Demonetisation is also known by which
of the following names ?

(A) Note Ban (B) No Currency
(C) Cashless (D) Zaéh:..nn:ow

(A) ﬂm.@..um (Consolidated)

(B) s (Grove Land)

(©) F9fr (Agricultura] Land)

(D) 4fd (Holding)

A parcel of land held under one tenure or
one _nﬁm, éngagement Or grant is known

(A) Consolidated

(B) Grove Land

(C)  Agricultura) Land
(D) Holding

O :
faale: T-PREP PECLNTUV R Stcn e v PN PEOCENTIVa? BN P

64.

65.

12

TH
iwgﬂmﬂ?ﬂﬂﬂa
ﬁ,gﬁwﬁﬁmgﬂﬂﬂd
ﬁwﬂﬁﬂmﬁﬂmﬂQWv aﬁmuﬂ_

reasons, by posing as .m t
Mow:.on In e-mail is called ag

A mos.nn_.:m (B) Cheating .
(C) Losing (D) v:mm_:.:mm.

e B 34 o g
@) WRdE . (B) g
© amw (D) gt

“Taka” is the currency of which
following countries ?

(A) Thailand B) Turkey
©) Bangladesh (D) Serbia

of the

I 39 Wi A w §
e F A F Y T @ QR
FGgH! 3R Yarafi i w o =
ST SR A R |

(C)  Sfieadt G Taeg-amefa R |

(D) Fegait 3t Faait 1 o yAn H
Y A1 £ | £

Which of the following sentences is

correct for GST ? ad

(A) GST is a common law =

procedure throughout the coun

under single administration. 5

GST is a comprehensive levy and

collection on both goods with

services at the same n_ﬁn&ﬂ of
benefit of input tax cre
subtraction of value. -

GST is a destination-based M. g

There are multiple levies 0

goods and services. e

(B)

)

Sk
Aan e
= o TP
ERTSFR CON PROLNTI VR OON POTIA T 1 R POWLA TN AN PRI ‘

66.

67.

68.

SN PIINTITE DN PITLA TS TR AXN PORLATEVa S54 WO ATIY,

A
[ees o)

69.

(D) M3t sgemg

Which of the following ports js located
in Kuchchh, Gujarat ?

(A) Kandla Port (Deendayal Port)

(B) The Jawaharla Nehru Port 70.
© Paradwip Port
D) Mormugao Port

BT € H, ot a1fia e 3 Areafien 3 4
0 =R W e wiATR g
ﬁ»ﬁ%ﬂwwﬁﬁznomcww@ﬂ%
SRR Tt 2 2

(B) e

(A) 3mrg

€) R (D) iR
Recently, Shri Amit Shah has laid the
foundation-stone of the headquarters of
National Cooperative Dairy Federation
of India (NCDFI) at which of the
following places ?

(A) Anand (B) Bengaluru
(C) - Jaipur - (D) Gandhinagar

ol 3 @ o @ ywebn wee sk
U IAESH FAHE B AW WY sik
SR STer a7 e % fore e 8 2
e smnd ¢

(A) TS T T Jehn
(B) ©EE ISR

(©) 3T TEHR

(D) ErTETH TR o
Which of the following awards is given
to motivate Cooperative and Milk
producer Companies to grow and to
instill competitive spirit ?

(A) National Gopal Ratna Award
(B) Dhyanchand Award

(C) Arjuna Award

(D) Dronacharya Award

73,

72.

: am
Freiferiaa 3 @ fora a1 & dre S 30
Tferefrerar aweid H AR & R 7

(B) it
©) T (D) Aure

i tly
i Cabinet has recent
Mr%no,\mu:_wno Migration and _oncm:wm.
>vmnnn503 between India and whic

the following countries ?

(A)

B) Sri Lanka

M% _mmmu i Mcw zwuw_mﬂ

i, I 18T T BT HIH
Mﬂm%ﬂﬂﬂﬂawﬂ@mmmmwg%
mogme
(A) %m&,%mﬂ.
(B) Siu® 37eft 1 dguTE, 7, u g
(C) ¥, wrerdia

(D) TTER! SEUIg, sheey
Recently, Indian Navy’s Fast Attack
Craft INS Kabra has arrived at which of
the following places ?

A) Colombo, Sri Lanka

B) Port of Jebel Ali, U.A.E.

C) Male, Maldives

D) Matarbari Port, Bangladesh

%m@ﬂuﬁ@wﬁﬂﬂﬁ
HEAE o7 7

(A) EF =@ TR @R

(B) eI 3Tere

(C) wcEdm dussht

(D) TrEwg a7eh fira

Who among the following was the

founder of the Khudaj Khidmatgars ?

A) Khan Abdul Gaffar Khan

B) Maulana Azad

C) Badruddin Tyabji

D) Mohammad Alj Jinnah

Frefafen & 3 ey 7 o Fifg.

TEUY (R g siRwg HEER

HATE (KLI-SOFC) %1 3gumea fvan 2 7

(A) mﬂwaﬂﬁ@m (B) it aiftm wg
SI. TH. SRR (D) sft g oy

Who  anmion the following  has

Inaugurated ochi-Lakshadweep Islands

Submarine Optical Fiber Connection
1-SOF(C) recently ?

A)  Shri Rajnath m.:mr

B)  Shri Amit Shah
C) Dr.S.] aishankar
Shri Narendra Modi
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3. frefofn § 3 R fees @ wh 7w |82, ‘o T A SR R 7 . o i 1 e ey | P T B TS
mMﬁmN (A) I ®) @ , e AR : (9. . 99-103) .
() g, T (B) TR, ER © () i (A) FHARETE @) T i e SfEA-oE G

74, ‘A R T W Prafafge & | A A 91. “forct %1 dTe SAMT YETER 1 Y FATIT : | quaform 7® ¥ R i e
e g 3 vt € ¢ (A). TR | (A) THTIVT AT H SGIGH FE o e A S A R g T
(A) I (B) Jerd (B) t&wH™ (B) U ST n«%%wﬁmﬂﬂ&wnﬁh%%w
(€) 3= (D) w@ (C) i T . (C) AT 3ty 37 TTEA—dA § S 3EQ TP B

75, 0 3R I A B R ww (D) e awmm _ (D) = Hm HA &m_wﬁm@wﬁ%ﬁﬁﬁwwﬂmﬂ
o1 o v PR da e e 84, 0, Fa o & wdE B sqE d 7 92. ‘w1 foei g R ﬁm%%%@d&@%u&
(a) & (B) == (A) SIS g (4) F== (B) B 3, ofer o e fire, s, SR,
(C) g (D) ¥F ®) | (€ ITE ev_uﬂm i %%%ﬂ%@dﬂm@gwaﬁ

D Sl R I o s i B i B e by
e 7 (D) v T (A) Tl ST A g SR Ty i gt o
(A) FF-TFA = TH I - 7o SN . . B st S 81 . Yo @ @ & R g W e F
(B) WItR - YRR = wife - R 85. v & u-frede w1 owm © 8w g e A o fofira wgem 6 g s &
(C) =1 - af =T - 94 i ; | (D) e g WA gt Jedi | gy e R 3= fifiad g St
D) fw-fm  =w-ww (W) T+ B) WA cseee v 7 5 g < &, TQ 3iish & € g Han

71. Fafafea i A fra ke iggawi ¢ (©) HT+ 3 (D) A+ e , @) (B e Mimﬂ&?&ﬁ%%%% uﬁaﬁw
(A) 98 ATTHY § Y1 HQ TR @R | (86, Iraeror g Y 3k : | ©) W (D) @ o
(B) @ = i uzg fre ¥ | o foem g 9 @ 9 St | o5, s 3 e o e A e gt & T B S @ 3 IA I8 T
(D) T AT 1 T O £ | o ﬁ&ﬂ_uw&ﬁ (B) faea : ) 16 ® 1 TA HT G & 3UH HAIME U IR

e © fr ) g e © 13 D) 10 TR AT AR |

78. frafefea & 4 gfeem v i s AT : |87, ‘wawd v § v weR ¥ demEns | - 06, T @ fg orcihR i A w1 |99, T @hi i fopea @U@ wifen
(A) wudEar  (B) HEH o w2 7 st ST e R 7 (&) T g B AR F A -
(GERCECIRE! (D) fEr '

(A) ToETETR fagn _me. (A) TTHH (B) ST A 7 A | :

79. Frefefaa 3 & f50 v &1 A Gheer | (B) W R C) s © Ww @O T (B) 3 A M1 35 R R Sy
Agme? | (C) Tgferiterss fashyor B © g7 PreiRas 3@ uEr W H IAHH TR TS 1 T~ T T Tehal |
(A) s (B) M (D) R Temiys R fe o e AR 7 (© 3o v R wiewt
(C) |F (D) T 8. ‘qurd L &) fen ®) & g 7 9 | _

80. TEE @ H @y i eRa | %gﬁwgﬂg_.ﬁmﬁw ) G e @ g () 3 A s forw T
it ik il wgiww : : 98, “TE AR N GH ¥ I T AR FA |\ oo e i -

(A) WEVHAFE (B) UYEH FRE © mwmﬂo&wﬂ (B) murg fmam : Mﬁw%ﬁﬁﬂﬂiiﬂﬂﬂ (A) WThT Sl < géam
(C) FU&H&H (D) &1 FH (D) el o Mww T SR (B) et Trfda i qraen
81. FeffgqddapmE s ard ? 89, .Eﬂam_mﬂuﬁmﬂdmw (€) iy SHTFH (©) vircera frfbedl b1 S~
L oW e m | W IR @) e __ @) W - (B) ST |
1 oo ATV AN PSRV E.a%g.h. i . .
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wifH-
(A) < et e o il
7g1 75 | .
I F AR TR & |
(€) 7% GifEed &) WHa o 78! gt It |
D) s F A NE T R
104] s fopmhy R off 7
(A) ATHEE  (B) WA TEH
(C) walE™ (D) §a T
;m.wn@ﬁam@%%ﬁﬂq@&m&w
deu Ed 8 ?

(B)

(A) I (B) WV What is Soham’s present salary ?
O e o | QOB S
e W_ﬂ?@d%mﬂ@ﬂ@%sw g u.mw Eg IR s, gﬁﬂw 20% BT 108 A FA A FHEL
(A) FrRvETE (B) Freaa S%w%ﬂg@wﬂ@%%n@_oﬂ& )
© - ae amwg Faftr 7 % i B e, < s 48 pwtl
07. FrefatEd g Weg 1 AT . . i)
o TR HAEE ? g 2 o o et W PRI & 7
(A) Jum (B) TEhi- In a certain school, 20% of students aré -
©) SR (D) wd below 10 years of age. The :E:com of
108. .wﬂ.wwﬂm. WW?MMMMM.&M wuﬁ w1 | students above 10 years of age i 3 of -
B ar 7
/M.M.w I - IR (B) ¥ - WieH the number of students of 10 years age

() wed - (D) qee - I

109. .%%ﬂ?ﬁﬂ%@.mﬂaw@n@

qree &1 994 HINT |
(A) TR (B) TRl
) freh (D) I

110, “rERER’ freR TS 3 Ehe R 7
(A) IR IR (B) el &R
(C) Werdi@t (D) e

A PIUTH (Ve PO PN ATEFR A PIVLNTVA R3S A TV QAR ROUIR TV R SRS PINENTIFR CONPIVLATI VR O PEOTENTREY A GOSN P

FK-3

111, FEEL T g
3.6x0.2
. ) 1728+ x
Simplify : ——— =2
P S 6x02
(A) 15 (B)12 (C)14 (D) 10

112. Pr=fafe oo 3 SERE (7) % @R

16

QU1 AT 7
What will replace the question
in the mozoé_mﬁ e :m:%: ? 0
5072.19 + 368.312 + (1) =9018.618
MB 3578.116 Mww 3578.112
C) 3571.115 D) 3571.116

113. & FEand 13 1 9 % I & § | 9 I\

HCF 13 2, a1 st @& 91 it |

Two numbers are in the ratio of 13 : 9If
their HCF is 13, then find the largest number,
(A) 143 (B) 169 (©) 117 (D) 52,

114, Ug A F I 2:3% R
afe e % 3ad 1 T 2,000 1 o 2
< T A 40 : 7 B WA & | WeHA A
AR AT TR ?

Salaries of Rohan and Soham are in %
ratio 2 : 3. If the salary of each is increased
by ¥ 2,000, the new ratio becomes 40 : 51.

which is 48. What is the total numbet of :

students in the school ?
(A) 110 (B) 90 (C) 100

116. @n@&:o@wﬁﬁma@ﬂ._w%.
Tl e | Al @ 173 fersfera o ST

Y T Y = ? ; o
A number when divided by 119, Jw 4t
19 as remainder. If it is divided by 1725
will leave a remainder ;

w Acyhyﬁﬂi

(A) 4 (B)2 ©

R AP ETTN TR

b

%)

117.

118.

119.

' The average of six numbers is 3.75. The
_average of two of them is 3.2, while the

A}

ﬂ\/ﬂr\.

W 120,

727,500 AT A AR F AR :

w oFOR hefE WM W 3 9§ WG
% 4,460 3 6 ¥ WG T 6,690 B A 2 |
g el s i

A sum of money amounts to T 4,460
after 3 years and to ¥ 6,690 after 6 years
on omawocam interest. Find the
approximate sum.

(A) T2,991.66 (B) 3,121.66

(C) 311533 (D) 297333

9 ER P, Q 3 R T =@wd T&
FQA 3 | p B 5w A, QH G
%uﬂwﬁﬂw%o%@,w%
@wgﬂzwﬂﬂw_ﬂw,ﬁm

Three partners P, Q and R start a
business. Twice P’s capital is equal to
thrice Q’s capital and Q’s capital is equal
to four times R’s capital. Out of total |
profit of ¥ 27,500 at the end of the year,
R’s share is:

(A) 15,000 (B) ¥2,500

(C) ¥5,000 (D) ¥7,000

e Tt @ afga 3.75 2 |SHAAH
i 3.2 2, SelE 3 Q F 3w 3.55
3 _%&n@%ﬁ%ﬁww

average of other two is 3.55. What is the
average of the remaining two numbers ?

(A) 4.6
(C) 4.5

o g O e e W A I R
o e 5 2 R AR 10

& wfy e & | g e T e
i HifvT | :

An article is sold at a certain price. By

2 :
Z of that price one loses

3
10%. Find the gain percent at original
price.

(A) 38%

(C) 35%

124

selling it at

(B) 30%
D) 25%

ﬂi&?§§£$;3%§§§=5§gﬁi

17

121. wuwm.lﬂ 26, 20, ~h* m.- e

122.

123.

ey

26 YRS

% v ve w et

o 2191 @I

Hife |
E:m the 21% term of the sequence 26, 20,
14, 8, ccevenee .
(A) 88

(€©) -100

mﬂﬂzﬁﬂﬁ%ﬂ_;.mmw%w |
Nu.nu@&mﬁ%mﬂwﬂ%ﬂwﬂw%
T 3 =hiere | (1 FRTT = 10,000 m?)
The area of circular field is 13.86

hectares. Find the cost of fencing it at the
rate of T 3.2 per metre.

(1 hectare = 10,000 m?)
(A) %6,132 (B) 5,138
(C) 5,808 (D) 4,224

-94
146

®)
()

nﬂﬁmﬁowﬂ&\mﬁ%%@mma
3T R T T A % TR 3T A 40

3 fepT gEA A ? 220 g7 iset

How long will a boy take to run _.oc_.ﬂmew\
square field of side 25 metres, if he runs

at the rate of 9 km/hr ?
(A) 48 ¥HE/sec. (B) 40 he/sec.
© 4 Fhe/sec. (D) 38 Tehs/sec.

Am@%m%@ﬂnﬁ_ow&
3 L Thd & FaTE 6 FSH IR 4 AShrgt
shemA A A awd & 1 4 2%
i 2 wefmat 3@ wm W fha fedli 8 g
FERAE ? lo— )6
4 boys and 6 girls can H_ONEnnmw. E.m_.m
in 10 days while 6 boys and 4 gifls can
do the same work in 8 days. In how

many days can 4 boys and 2 girls do the
work ?

(A) 30
(C) 28

B) 27/2
(D) 25/2

O AT N PO A T A R WY RNPSEATITL A b
]
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i we FYA 3t 385 m:M L
|
: i - A1 e e 9 T iferet
%, ¥ 1259 129 ; LA i mm%ﬁw ki uﬁﬂ@i&w&m. ME%@M% ]n_. ﬂ%ﬂ%ﬁﬁmﬂw%@ﬂﬁ%ﬁ@ A 1, 11 IV ﬂn@ﬂﬂ%%ﬂ q1/8 T
. Y.  lmiim ¢ .ﬂ.ﬂdﬂﬁ %ﬂ%ﬂﬂmﬂ | ._.Mu u“_.._d.mw g FE ,mm.ndm_‘ﬁ
a.mwmmﬁm:ﬂﬁﬂﬂ%m_ ’ ) . . tt when e a1/8
%Aza. 125 to 129 : Study the bar graph I T SO R, @3 g B e M:%ﬂammwnv_mwwa %5% wwm in the wore’ T 8/8 meMMM % m& fem 8
and answer the questions based on it. 1 2 T e § S mﬂu%m ? m._mns letter series shall complete it ? a5 2/ 3R aegan Y
j\\am%&wﬁ wﬁ_ﬂarﬂ_ﬂmﬂﬂw\:: In the given figure if Triangle represents and™an_Yadmai ghd man sitnadnna fredi 8 & T mﬂaww | iR aEt |
- Prodsction of Mobile by company (In Lakh) over the healthy people, Rectangle represents old MWW Wswﬂmﬁm M.WW nmaadna FYd ; T = oft :
B persons and Circle represents men, then Rl 1 4 o od B W A TPl HET =TfeT ?
Bz what is the number of those men who are - : 135. T dﬂmﬂ nm._ | -y .
£i Ithy but not old ? x=%% . m@m__ lternative from P, : wd qreRd
o b BB HE bl L oo e o e e eresr | 1 ® | g 8 g
£ oI o 05 0 g g mwu,um,mu.am.ﬂm | et %
2000 2002 2003, 2 — ’ 85 (D) 78 = .mﬂ.m._._‘nl‘_. HHEA :
B a4/ Years =Y (A) 87 (B)83 (O 1L T | T’ m.mmn._ﬂ o ®H
7 A 2006 F HEd S S 2 AL 3 T ¢ @ (2) B AR EEED
125. 2005 2 b e '\ e s , L 136. ¥X: Mot D e il o
P 3 & o a © e (o) o 1. | el & e g 3
3 % faeig it B)S (C)6 (D)3 J0%+" jon : Den::Rabbit:(?) ) 1l ﬁ%%%w.ﬂmwﬁﬂ
‘ duction of 2005 and (A) 8  (B) : Trench B)~ Pit T
The average pro <. 37 31ef 2 S5 M>W D) Hole g1 Faig 781 B _
2006 was exactly equal to the average 131 afe <+ 1 ared W R, 7 T &, | 72— C m_”:mn.ﬁo. oL N il el s 5 m,..nw,m...ﬂﬂ
production ow which of the following wHadarER i F A IR, @l &4t L\\\N\M\‘ 137. w%gﬂc m\_ ; Mww HUQM Iv. Mﬂwm mwu" ﬁ:&:ﬁ&@ﬂdﬂaw |
e Yoo ot/ and 2007 o289 63 %+ 8-+ -3 =15 _ & ©) oA T A) e 1T ST 111 A £ |
(A) 2002 = &Q%\\ If +’ stands for division, ‘+’ stands for 138. Wﬂ%ﬂ%wi@&m o e (A) et _
(B) 2004 31T/ and 2005 \vmaw\ multiplication, ‘x’ stands for subtraction cgria +3 How many triangles are there in (B) Fad 1 Hed s
(C) 2004 3/ and 2006 gy46 Cﬁu and ‘-’ stands for m&aﬁ. then o3t iiE following figure ? Y ju.im (©) Fa= _%ﬂzwq_,ﬁw I
5 1olv 24+8+4+2-3=7 F Fad | 79 .
(D) 2006 AR/ and No.oq.t Pdwa\, vax 63 (B)60 (C)61 (D) 58 4 2y 24 3 Nu i , * .mOU_wmmmou given below consists of a
126. 2001 1 g § 2008 & & e o X) 6 T@ < . . statement, followed by four arguments
3 st Wi gfe = o 7 132, =R fosedi # & 7§ ol (X) (364 3 O s numbered I, 1L, 111 and IV. You have to
KRl ] . _ . (A) 14 ®)10 (©) ecide which of the argument(s) is/are
ha the approximate percentage ﬁs@ﬁ@w | 2 R d t i
D o mobile in 2008 ! ror i the IR 139, T safF 3w foan A 9 foeft e 2, “strong’ argument(s) and which is/are
compared t E.oa:m:mmom 7 Cliosse the eomest milror dmagerCt 7 ‘ wTA 3 g & 3 4 foprt e R, fLE ‘weak’ argument(s) and accordingly
noauwmmm%o R (B) 183.33% given figure (X) from amongst the four e areff 7R et # 3R 10 ol wer g, T choose your answer from the alternatives
MWW 195% (D), 166.67% eltepnctiies : & ot AR 2 3t 4 Reefh <o 2 1 given below ﬂrnmm:nwwo_w:”a. , in R
XD T ! A 2 et Statement : ou ndia go in for
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D aimany O mobiles more. than the | 00 m @ & @ A . A T e o oves by 4 k. How I~ Yes. It will bring efficiency ang
s rage production of the given years ? A4 ®2 ©3 O : again turns left ok Qﬂmaam_ osition 2 accuracy in the work.
mu)n »m P B)2 (O3 (D)1 3 st o S B S e e = & far the person is " /4 km IL  No. It will be an injustice to the
o froa ad 6t gewn & vanga & | 133 T kX & (A) 1414 km (B) N monumental  human  resources
128. o8 9 & HR ST A I 2 : a o (© ofmfiokm (@ 1THH/1km which are at present underutilizegd_
e gfg stfasmam oft 7 afd, gftam, Tt 140, Frfufaa s # U W fo ], 3 M. No. Computerization demands g g
In which year was the _uﬂnnswmmn Choose the Venn diagram which best . T2 = e fou e, e @ s fw e of So:nw..”én should not wagte
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142. 92 e T w7 § v wuA 3k 3gF el

R 11 TR 31 yromd € g § | sy
FY1 AR Frafafes smonsd @ fEn
FE 8 IR foig W} R o @
uren () wem § amafifea 2/8
HYF : 27 T & HUEH 1 R e 51
Tzt & |
grond : 1. 27 AT 9 HRET § R
g TUgafe 4 |
IL Usgid &1 & T, s
T AT |
(A) AT 1 3afifea i |
(B) s um 11 safifza @ |

(C) A 1A Hafifea 2 |

(D) %aa awon I safifea )
In the question below g statement

followed by two assumptions numbered [

and Ilis given. You have to consider the

statement and the following assumptions

and decide which of the assumnption(s) .
is/are implicit in the statement.

Statement : Imprisonment for 27 years

made Mihir Kalal the President.
Assumptions :

I. One who will be imprisoned for 27

years will become the President.

I. To become the President
imprisonment is a qualification.

(A) Neither I nor I is implicit.

(B) Only assumption I is implicit.

(C) EitherlorIlis implicit.

(D) Only assumption I is implicit.

1. 4. 143/ 147 : foreft e 1 Shoger A &
T4 & T fafafea amee €
Jafigan -
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AT 65% 7! o Ty Wud Soft & g
Tl a1 umee € =l |

3 =59 wlEn § FH A wH 50% 3k I
fras

A TIThR § S 8§ FH 40% 37 I ford
&

1 AR 1-10-2005 I 21 T§ & FHH 3N 30
a9 ¥ fis T8 g =R |
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for selection of com
organisation :

The candidate must —

mm_u_sﬂng.@.mwﬁ

mﬂwﬂﬂﬁﬁwﬁ

w,ﬁgzﬁm.igﬂmﬂﬂ

TFHar g |

T ST % ST B o Lieo
R EE I S e 1-10-2005
Rl % sram Rome g | ,
143 to 147 : Following are the criteria
puter professionals in an -
&
o
be a Computer Engineer or MCA with

first class having minimum 65% marks,

have secured at least 50% marks in the
Selection Test.

have secured at least 40% marks in the
Interview.

not be less than 21 years and not more
than 30 years of age as on 1-10-2005.

In case of candidate who satisfies all other
criteria, except :

At (1) above, but is an Electronics
Engineer with 70% marks, the case may.
be referred to the GM, Recruitment.

At (2) above, but is having at least.
2 years’ experience of working as a
Systems Analyst, the case may be
referred to the Chairman, Recruitment
Committee. ;
In each of the following question,
information about one candidate is given.
You have to analyse it with reference to
the above criteria and condition and then
decide the appropriate course of action.
You are not to assume anything other
than the given information. All these
cases are given to you as on 1-10-2005.
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I T 1998 ¥ 22 W 6 3w F 70y,
u.ﬁw e | THEIE TR | R e
H 55% 3% 3R T wha A 550, 37
I fore | 98 1999 5 ST % w9 & v
miuﬁ%% FE T W gy s fema
Ncomwﬁﬁuﬂﬁmwﬂmjummf
(A) e e S, wdf A S g |
(B) A Infiear 1 v & Frm a2 |
(C) e wmen arene, wdff wivfy < S
SR |

(D) A Ifieam &1 == Rear T g |

Modi Jay did MCA in 1998 with 70%
marks at the age of 22 years. He scored
55% marks in Interview and 55% marks
in the Selection Test. He joined an IIT
company in 1999 as programmer and got

promoted as Systems Analyst in
December 2002.

(A) If the case is to be referred to the
GM, Recruitment.
(B) Ifthe candidate is not to be selected.
(C) If the case is to be referred to the
Chairman, Recruitment Committee.
(D) If the candidate is to be selected.
T 75% 3! % e U faferet seffem
B | ITHT I 6 TS, 1976 W §IN A1 |
IR =T T H 70% 3 I ATERHR
# 429 3 T foem |

(A) 3 A i, woff i ST R |

(B) afe Iriigaw #1 w7 7 fRar s
R

(C) afe umen sy, woil wiufe =t A0
TR

(D) e Efear w A fFn IR |

Sanjay is a Civil Engineer with-75%

marks. He was born on 6% July, 1976. He

scored 70% marks in the Selection Test
and 42% marks in the Interview.

(A) If the case is to be referred to the
GM, Recruitment.

(B) - If the candidate is not to be selected.

(C) 1If the case is to be referred to the
Chairman, Recruitment Committee.

D)

If the candidate is to be selected.
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faera, T g SfE, 2003 & 22 79

ot amg & sifem wlen & 72% S S T

Il g3 | 3 wE whEn d 70% IFH

ST HTETHR F 48% 37 TTed foh |

(A) STIRR I

(B) e sufiear w1 =g TE RFn I & |

(C) afe e sreae, Wl whify AT
TR

(D) @R Infigar 1 =3 e ST 2 |

Vijay, a Computer Engineer, vnmm.mm out

with 72% marks in the final examination

at the age of 22 years in 2003. He

secured 70% marks in the Selection Test

and 48% marks in the Interview.

(A) Data inadequate.

(B) Ifthe candidate is not to be selected.

(C) If the case is to be referred to the
, Chairman, Recruitment Committee.
(D) Ifthe candidate is to be selected.
3ifeRd 3 < () F 80% 3 IR
Toi T oAt 3§ 78% a7 W fu |

a5 e 3R WiEehR 3§ 396 F FHHW:
55% 3 60% & | w8 2001 ¥ faew
TR F & H s R ® E | IR
Ty 19 a3, 19802 )

(A) afE Amwer Sfaw, welf ® S ST R |
(B) Mﬂﬂ%ﬁmﬁﬂuuﬂg ST
_

(©) af wen sree, woff Wiy =Y S
SR |
(D) e I=ficar #1 == frn e 2
Ankit scored 80% marks in B.Sc. an
and 78% marks in Electronics
Engineering. His scores at the Selection
Test and the Interview are 55% and 60%
respectively. He has been working as
Systems Analyst since 2001. His date of
birth is 19 April, 1980,
(A) If the case is to be referred to the
GM, Recruitment.
(B) Ifthe candidate is not to be selected.
(C) 1If the case is to be referred to the
Chairman, Recruitment Committee,
(D) Ifthe candidate is to be selected.
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F 5 o @ arfere T q A

F w9 o s foe g I

A) AT |

EB)) R Feficar =1 =4 TEl R IR |
(C) aft wrer areas, Wil |l i de
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(D) afe Iefican &t == R T 2 |
Divya is a Computer Engineer with 80%
marks. She scored more than 55% marks
in the Interview and the Selection Test.
She has worked in XYZ company as a
Systems Analyst for more than 5 years.
(A) Data inadequate. -
(B) Ifthe candidate is not to be selected.
(C) If the case is to be referred to the

Chairman, Recruitment Committee.
(D) If the candidate is to be selected.

I T g i % w9 § §m

T W A9 ° e it o fevit w

=Y T AT et R 3R nie R @5

AT LT ] | AR

(A) 3fe waier Tea Iqerey € @ e =
T} <1 Sfeq s & =R |

B) Forw g ghftem w0 & fm
eI =1 s =nfeu ok ofie =
fora Tt s =nfew |

(C) @ T Fd & o wee
T AR |

(D) Ta® % foe R # finwar F@
< ToTU et 1 Sl et =i |

You are stationed as a police officer, an

agitated crowd at a local fair accuses a

teenager of theft and attempts mob
lynching. You should :

(A) let the mob punish the accused if
enough proof available.

(B) rescue the teenager and disperse
the mob to ensure fair trial.

(C) make the accused confess under
duress.

(D) use force to arrest the accused for
questioning,.
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< T wg-wifiies 3ot 4 e g

%Wﬁ,m:

(A) TR % HreEd ¥ g Hmemy
Wit w0 % e =2 5w
T MR |

(B) @AM % forg Trwferst st
o |1y fRiamatt i weqa e =

(C) wHRF HHTd Afew a1 Iugfy
T HE FHRATS ! AR |

(D) @& w9 BH 9% ARTEawmiy
] T =R |

As head of police in a riot-hit mixed

curfew till

through dialogue.
(B) table concerns with municipal
©) h or
community lines.
impose indefinite
HTIR! AT TR Frepra gmat ) s
T Y WG W N dAd A Rvaeie
T R 3T T Y R &
<1fea |

religious locality, you should :
(A) engage elders to reconcile groups
authorities for resolution.
act tough on miscreants crossing
(D)  impc :
tensions subside.
AT T g A F w9 § 8w §
ST 9T et & | A9 _
(A) T Afwm Rl w fiey
(B) digHis ¥ == ¥ fu frams
TSI} Y HRATS HEAT =1 |

- (C) woeue &t e g et

ST =I(RT |
(D) TAER R W wf| ww @
T s =few |
You are stationed as a police officer, you
receive reliable information of preparations
to violently disrupt upcoming local body
elections. You should : i
(A) ban political campaign events an
restrict assembly. .
(B) conduct preventive detentions ¥
' avoid subversion. e
(C) mobilize  auxiliary  polic
augmentation in vulnerable areﬁs-he
(D)  recommend  postponing
electoral process.
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